#HEsitx (@H)

N 47b=(m) AR (m) At (%) FE8 (N)
" . . . . SR —

iﬂzlzifﬁ BHRW=0.15(E#R) | BRW=0.15FE#R) ZW;ESXO(; :ﬁ 'E:% %\;V;O;s (f}:: E;E %YV;O;;(:;Z: E)%E KED - XF15miRE 743 2 0/}4 gozs;my REHELREEB
T/NEY) 520.0 130.0
B 1320.0 330.0 18.6 4
=a):iy) 1400.0
IR 529.6 50.0 57.2 31.1 4
HFR 3.0 1
EIEZN 2.0 .
ERK 390.0 660.0 8.0
PR 4.0 5.4
U 1000.0 2
a5t 5159.6 510.0 660.0 17.0 57.2 55.1 1.0 14.0
HEHHE 5160 510 660 17 57 55 1 14




5 ¥ T = £ = e & maEb—M HE57-45HR(FMN
T ia ia 7l =] H = BT £ = ZEEHE w %
XEHRLT
R
X EHREE 1.0 = 1.0
SMBIKR+EELE TR
2TOER |REHRERE 50.0+78.7+58.7+30.0+32.4+53.4+53.2+173.2 m 529.6 530
N AV TEHIE SRR B W=15cm
X EHREE 1.0 = 1.0
FRoRfR
2 COER |REHRRE 5x10 m 50.0 50
N AV TEHIE BER B W=15cm
X EREE 1.0 = 1.0
ELHIEER+ BT S
2TOER |XEHRRE 6.0+51.2 m 57.2 57
ARl IFHIE €TSS w450
X EREE 1.0 = 1.0
KED - X5F - &E5
2 COER |REHRRE (8.91+6.66) x2 m 31.1 31

BRI 525 15ecmiEiER
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T ia ia 7l =] H = BT £ = ZEEHE w %
XEHR LT
Lt}
X EHREE 1.0 = 1.0
SHBIER
2 COER |REHRRE 700%2 m 1400.0 1400
N AV TEHIE SRR B W=15cm
XEHR LT
b
X EHREE 1.0 = 1.0
SHMBIER
2TOER |XE#RRE 660x2 m 1320.0 1320
N AV TEHIE SRR B W=15cm
X EREE 1.0 = 1.0
FRoRfR
2 COER |REHRRE 330.0 m 330.0 330
N AV TEHIE BER I W=15cm
X EHREE 1.0 = 1.0
KED - XF - S
2TOEHR |XEHRRE 18.64 m 18.6 19
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T ia ia 7l =] H = BT £ 2 ZEEHE w %
XEHR LT
HhZR
X EHREE 1.0 = 1.0
(FIHIEEHR
2 COER |REHRRE 3.0 m 3.0 3
ARl IFHIE €TSS w300
MIH|BEERS—b 1.0 ] 1.0 1
DAY oS — NERE R%& 1200%4800
XEHR LT
fERK
X EREE 1.0 = 1.0
SHMBIER
2 COER |REHRRE 390.0 m 390.0 390
N AN TEHIE SRR B W=15cm
BRI O S —BEER 1.0 = 1.0
ZAVEZV A
MIH B H S —BEER 390+270 m 660.0 660
BRI XTI 7))L NBE - W=30cm




5 ¥ T = £ = e & = maEb—M HE57-45HR(FMN
T iE iE il B8 H = L i} B B2 TEHRE " =
XEHRERE 1.0 = 1.0
fELEIEEHR
2TOER |RE#RRE 2X2+2x2 m 8.0 8
ARt IFHIE €TSS w300
XEHRT
g5
XEHRERE 1.0 = 1.0
fEIEHEEHR
2 TOERA |[RERRE 2+2 m 4.0 4
ARl IEHIE €J'S w300
XEHRERE 1.0 = 1.0
KH - XF - &5
2 TOERA [RERRE 5.4 m 5.4 5
BRI 5 15cmiBiER
XEHRT
AIAR
XEHRERE 1.0 = 1.0
fE1EIEEHR
2 TOER |[RERSE 2.0 m 2.0 2
ARl IFHIE €25 w300
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T i i bill g H BT # 2 ZEE NS fi
XEHRT
T/NEBED
XEHRERE 1.0 X 1.0
HMAR
2 TCTOER |XEHRRE 520.0 m 520.0 520
N TARIEL AR BT W=15cm
XEHRERE 1.0 X 1.0
FROLR
2TOER |XEHRRE 130.0 m 130.0 130
N b TARIRY TR INEASC W=15cm
XEHRT
A (PUT=a-)
XEHRERE 1.0 X 1.0
HMAR
2 TOER |XEHRRE 500x2 m 1000.0 1000
N b TARIEL AR MBS W=15cm
REEET
EFEERE
RiBFEEREB 14.0 A - H 14.0




